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PH SLEPXC
HH: ST UHEMAH SHS(SSEAH LM /THLHS Y - 2182])
Chel: S8Y UMD 4 (&te @
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0f] AboH @;OH Hl =2
USRS X U B2 (YIINEI)
230,000 *3CH 690
29820 29 1,265,100 681,631 583,469
201 LBt Y] 497,993 427,703 70,290
01 AFR2t2/H] 11,806 11,922 A116
SIRZREA MM Z A 210,000 x9H 1,890
IS (IIMII=3 ) 4,958,0002 x24! 9,916
02 222%H| 486,187 415,781 70,406
Al BE 2 (20) 342,312
LAY S2H| 69,300
A HHE ARE 30,000
MR 10,088
=22 1,350 %4 .54 ¢ *BAl 2t 100 *80% 3,923
A2y D 1,350 %4 § *4A| 21002 *#3CH *80% 5,184
< A 1,350 %454 § *4A| 2Fx502 %80% 981
A BT 4,500
MoaEs 24,300
X BAR 175
BANS 2o2 320
HEK XY 5,192
stz 2,912
ELXAXM 2,280
206 K24l 10,614 10,614 0
01 MHZHI 10,614 10,614 0
AYUSZH AZE R 10,000
=2 s 2 614
401 Al&HIL Y 725,167 227,398 497,769
01 Al&H] 725,167 227,398 497,769
AL HH| 710,167
<250 EEAE HIZAH(EIIZA 400,208
<1301 =L B AHB00AIZH) 60, 139
S23 0| YO HEEX(6E HIIAA 74,017
< 1,280 HIIZEAH(1E) 47,612,500 «20H 95,225
- dHE 3LsE Y LA
200, 0002 *23] 400
- 1,280 gstE e (38 HIIAA
12,741,000 *2CH 25,482
<250 2EXIA XIAIDI Z2AH L 22 34,696
S A=Y H 10,000,000 *2CH 20,000
24D Hed B2 15,000
405 KHAHE SH 31,326 12,100 19,226
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S S4RxG
T SN S S (SBEAMYLOT /LT - 212)
Eol: SEE HUMSI §& EERED
_ _ _ Muo
SN - B S(3) - HRAY - BAS O] &t o4 il b o HlmE 2
2 JIE2y2 500 1,000 2500
SAUTEN GRBAK E& 50,0008 %10 500
303 EA3 500 0 500
01 E&3 500 0 500
SRR MY T 50,000 * 102 500
405 Xhet3 SH| 13,200 0 13,200
01 M LS B SH) 13,200 0 13,200
o1%F 4 AFFH| UTV 13,200, 0002 #1C} 13,200
M2l 2 Scazy 22 50,000 20,000 30,000
2 25,000
A 25,000
405 Xet S| 50,000 20,000 30,000
2 25,000
A 25,000
01 LS EFSH] 50,000 20,000 30,000
ssEss S 7Y 50,000
2 25,000
A 25,000
3 HI(S+REE) (OIEHIIEH 91,658 117,500 £25,842
91,658 117,500 £25,842
ol 91,658 117,500 A25,842
L= 10,760 45,170 A34,410
NI 10,760 45,170 A34,410
SA2Y Jl=48H 7,400
Egess S| 3,360
ot 63,048 58,560 4,483
24 01t] 63,048 58,560 4,483
B B0 41,520
2ol EIOIHI 21,528
Yy FuY| 5,220 5,220 0
SASYYRFTL) 5,220 5,220 0
SHEYYRF N
(350, 00021+(5,0002 * 172 ) )12 5,220
T S| 12,630 8,550 4,080
MY 2B SH 12,630 8,550 4,080
HE+23 1,550
a5 4,800
-2 RE 1,600, 0002 +3C4 4,800
- 23 6,750
-2 BE 1,600, 0002 +3CH 4,800
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